
 © Copy right 2013, Au-ve-co Prod ucts Co. "SINCE 1916" THE  COM PLETE  FAS TENER LINE 273

Sec. 15

AD DI TIONAL BODY HARD WARE MAS TER AS SORT MENTS

6636BHM
Small Size

Grade 5 USS
Cap Screws,

Nuts & Wash ers
14 Va ri et ies, 1,650 Pieces

Auveco
Part No. Size

5434 1/4"-20 x 1/2"
5436 1/4"-20 x 3/4"
5438 1/4"-20 x 1"
5449 5/16"-18 x 3/4"
5451 5/16"-18 x 1"
5452 5/16"-18 x 1-1/4"
5453 5/16"-18 x 1-1/2"
5455 5/16"-18 x 2"
5463 3/8"-16 x 3/4"
5465 3/8"-16 x 1"
5466 3/8"-16 x 1-1/4"
5467 3/8"-16 x 1-1/2"
5469 3/8"-16 x 2"
5471 3/8"-16 x 2-1/2"
15586 1/4"-20 Hex Nut
15587 5/16"-18 Hex Nut
15588 3/8"-16 Hex Nut
8606 1/4" USS Washer
8607 5/16" USS Washer
8608 3/8" USS Washer

6634BHM
Large Size

Met ric Cap Screws,
Nuts & Wash ers

12 Va ri et ies, 380 Pieces

Auveco
Part No. Size

14430 M10-1.5 x 20mm 
14431 M10-1.5 x 25mm
14432 M10-1.5 x 30mm
14433 M10-1.5 x 35mm
14434 M10-1.5 x 40mm
14436 M10-1.5 x 50mm
14438 M10-1.5 x 60mm
14439 M10-1.5 x 70mm
14441 M12-1.75 x 30mm
14442 M12-1.75 x 35mm
14443 M12-1.75 x 40mm
14445 M12-1.75 x 50mm
14454 M10-1.5 Hex Nut
14455 M12-1.75 Hex Nut
17395 10mm Flat Washer
10583 12mm Flat Washer

6642BHM
Large Size

Grade 5 USS
Cap Screws,

Nuts & Wash ers
8 Va ri et ies, 650 Pieces

Auveco
Part No. Size

5463 3/8”-16 x 3/4
5465 3/8”-16 x 1"
5466 3/8”-16 x 1-1/4"
5467 3/8”-16 x 1-1/2"
5469 3/8”-16 x 2"
5471 3/8”-16 x 2-1/2"
5476 7/16”-14 x 1"
5477 7/16”-14 x 1-1/4
15588 3/8”-16 Hex Nut
15589 7/16”-14 Hex Nut
8608 3/8" USS Washer
8609 7/16" USS Washer

6629BHM
J.I.S. Hex Flange Bolts

& Spin Lock Nuts
21 Va ri et ies, 550 Pieces

Auveco
Part No. Size

17315 M6-1.0 x 12mm
17316 M6-1.0 x 16mm
18807 M6-1.0 x 20mm
21048 M6-1.0 x 25mm
18808 M6-1.0 x 30mm
18809 M6-1.0 x 40mm
18980 M8-1.25 x 12mm
17387 M8-1.25 x 16mm
17388 M8-1.25 x 20mm
21051 M8-1.25 x 25mm
17389 M8-1.25 x 30mm
21052 M8-1.25 x 35mm
17390 M8-1.25 x 40mm
21053 M8-1.25 x 45mm
17188 M10-1.25 x 16mm
17189 M10-1.25 x 20mm
21054 M10-1.25 x 25mm
17190 M10-1.25 x 30mm
21055 M10-1.25 x 35mm
17191 M10-1.25 x 40mm
21056 M10-1.25 x 45mm
16769 M6-1.0 Nut
16830 M8-1.25 Nut
16470 M10-1.25 Nut

6635BHM
Small Size

Met ric Cap Screws,
Nuts & Wash ers

14 Va ri et ies, 925 Pieces

Auveco
Part No. Size

14403 M5-.8 x 16mm
14404 M5-.8 x 20mm
14407 M6-1.0 x 12mm
14408 M6-1.0 x 16mm 
14409 M6-1.0 x 20mm
14410 M6-1.0 x 25mm 
14411 M6-1.0 x 30mm 
14419 M8-1.25 x 16mm
14420 M8-1.25 x 20mm
14421 M8-1.25 x 25mm
14422 M8-1.25 x 30mm
14423 M8-1.25 x 35mm 
14424 M8-1.25 x 40mm
14426 M8-1.25 x 50mm
14449 M5-.8 Hex Nut
14450 M6-1.0 Hex Nut
14452 M8-1.25 Hex Nut
10578 5mm Flat Washer
17393 6mm Flat Washer
17394 8mm Flat Washer

6630BHM
Ny lon Con nec tors &

Rub ber Vac uum Caps
24 Va ri et ies, 310 Pieces

Auveco
Part No. Size

Ny lon Con nec tors

12929 1/8” x 1/8” Straight
12930 1/8” x 3/16” Straight
12936 1/8” x 1/4” Straight
12937 3/16” x 3/16” Straight
12935 1/4” x 3/16” Straight
12931 1/4” x 1/4” Straight
12946 5/16” x 5/16” Straight
12923 1/8” x 1/8” x 1/8” Tee
12926 3/16” x 3/16” x 1/8” Tee
12918 3/16” x 3/16” x 3/16”Tee
12919 1/4” x 3/16” x 3/16” Tee
11738 1/4” x 1/4” x 3/16” Tee
17629 1/4” x 1/4” x 1/4” Tee
12920 5/16” x 5/16” x 5/16”Tee
12927 3/16” x 3/16” x 3/16” “Y”
12943 1/4” x 1/4” x 1/4” “Y”
12932 3/16” x 3/16” Elbow
12939 3/16” Cross

Rub ber Caps

12209 For 1/8” O. D. Tube
4440 For 3/16” O. D. Tube
4439 For 1/4” O. D. Tube
12907 For 5/16” O. D. Tube
12210 For 3/8” O. D. Tube
12908 For 1/2” O. D. Tube


